ISLEVER

170-055

Oracle Database 11g: New Features for 9i
OCPs

DEMO

https://www.islever.com/1z0-055.htm|
https://www.islever.com/oracle.html

For the most up-to-date exam questions and materials, we recommend visiting
our website, where you can access the latest content and resources.



QUESTION NO: 1

You executed the following command to drop a user:

DROP USER scott CASCADE;

Which two statements regarding the above command are correct? (Choose two.)

A. All the objects of scott are moved to the Recycle Bin

B. Any objects in the Recycle Bin belonging to scott are purged

C. All the objects owned by scott are permanently dropped from the database

D. All the objects of scott in the Recycle Bin must be purged before executing the DROP
command

E. Any objects in the Recycle Bin belonging to scott will not be affected by the above DROP
command

Answer: B,C

QUESTION NO: 2

Which client requests to the database can be captured as a part of the workload capture? (Choose
all that apply.)

A. Flashback query

B. Distributed transactions

C. Logging in and logging out of sessions

D. All DDL statements having bind variables
E. Direct path load of data from external files

Answer: C,.D

QUESTION NO: 3

You executed the following SQL statement to shrink the EMPLOYEES table segment stored in the
EXAMPLE tablespace:

ALTER TABLE employees SHRINK SPACE CASCADE;

Which statement is correct in this scenario?

A. The EMPLOYEES table will be changed to read-only mode during the shrink operation
B. The indexes created on the EMPLOYEES table will need to be rebuilt after the shrink operation
is over
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C. The shrink behavior will be cascaded to all dependent segments of the table that support a
shrink operation

D. Data manipulation language (DML) operations will not be possible on the EMPLOYYES table
during the COMPACTION phase of the shrink operation

Answer: C

QUESTION NO: 4

You want to convert your existing non-ASM files to ASM files for the database PROD. Which
method or command would you use to accomplish this task?

A. Data Pump Export and Import

B. Conventional export and import

C. The CONVERT command of RMAN

D. The BACKUP AS COPY..... command of RMAN

Answer: D

QUESTION NO: 5

You have three production databases, HRDB, FINDB and ORGDB that use the same ASM
instance. At the end of the day, while all three production database instances are running, you
execute the following command on the ASM instance.

SQL> shutdown immediate;

What is the result of executing this command?

A. The ASM instance is shut down, but the other instances are still running

B. It results in an error because other database instances are connected to it

C. All the instances, including the ASM instance, are shut down in the IMMEDIATE mode
D. HRDB, FINDB and ORGDB instances are shut down in the ABORT mode and the ASM
instance is shut down in the IMMEDIATE mode

Answer: B

QUESTION NO: 6

You are managing an Oracle 11g database with ASM storage, for which the COMPATIBLE
initialization parameter is set to 11.1.0. In the ASM instance, the COMPATIBLE.RDBMS attribute
for the disk group is set to 10 2 and the COMPATIBLE ASM attribute is setto 11 1 Which two
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statements are in this scenario for the features enabled for ASM? (Choose two.)

A. The ASM-preferred mirror read feature is enabled

B. The ASM supports variable size of extents of 1,8 and 64 allocation units

C. The ASM disk is dropped immediately from a disk group when it becomes unavailable
D. The RDBMS always reads the primary copy of a mirrored extent of the ASM disk group

Answer: A,B

QUESTION NO: 7

You have three temporary tablespace groups named G1, G3 and G3 in you database.

You are creating a new temporary tablespace as follows:

CREATE TEMPORARY TABLESAPCE TEMP1 TEMPFILE '/ul/data/templ.dbf' SIZE 10M
TABLESPACE GROUP";

Which statement regarding the above command is correct?

A. It will create the tablespace TEMP1 in group G1

B. It will create the tablespace TEMP1 in group G3

C. It will not add the tablespace TEMP1 to any group

D. It will create the tablespace TEMPL1 in the default group

Answer: C

QUESTION NO: 8

You executed the following SQL statement to shrink the EMPLOYEES table segment stored in the
EXAMPLE tablespace:

ALTER TABLE employees SHRINK SPACE CASCADE;

Which statement is correct in this scenario?

A. The EMPLOYEES table will be changed to read-only mode during the shrink operation

B. The indexes created on the EMPLOYEES table will need to be rebuilt after the shrink operation
is over

C. The shrink behavior will be cascaded to all dependent segments of the table that support a
shrink operation




